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A & 0l & AF 2 E A A
2H: BREAD
dM: AMNEUHEESAZ 29
S NABSH GBS JIRE TN 29 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
R M2 2,087,226 2,253,517 A 166,291
= 82,332
< 34,700
Al 1,970,194
NEHEEAZ 2 1,037,279 1,055,944 A 18,665
< 10,000
Al 1,027,279
AISH FHES IR S 22 330,512 316,284 14,228
< 10,000
Al 320,512
SEEME AMAE 2 241,612 218,284 23,328
201 et 221,612 198,284 23,328
01 At 22l 216,890 194,330 22,560
OXEFd MUl 22 160,000
O=Us=X 22 AAMHA XML (0BPia)+
= 11,000
OSETHMZ AIAE SR 22l
192,578,000& * 12% 23,110
OSSN SHOIX SXl2ec
114,300,000& * 14% 16,002
OSg&TM& SHOIX 2eeE AHlA 0l82
55,000& = 123 660
OB M2 AIAE S22l
47,054,000& = 13% 6,118
02 =224l 4,722 3,954 768
OZEANZ WERIZ &EbHl |22
59,020,000& * 8% 4,722
405 XHobF S HI 20,000 20,000 0
01 HatL ESFH S 20,000 20,000 0
OFXNHEZ M2 MXE 2 50,0008 * 4002 20,000
SMSO0tel sk 11,900 15,000 A 3,100
201 Let24E] 2,000 4,000 A 2,000
03 A2 Z I 2,000 4,000 A2,000
O=sMSotel |35 500,000& * 43 2,000
307 21201 A 9,900 11,000 A 1,100
02 HIAFAAFEX 5,400 6,000 A 600
O=Ads0tel gstHl X 300,000& = 1804 5,400
04 DI2HHALALSE E X 4,500 5,000 A 500
OsAHdsotel 58 g2t 4,500
SAHE 28 FAU(MMAL) 9,000 9,000 0
201 L2l 9,000 9,000 0
01 At 22l 2,000 2,000 0




2H: BREAD
dM: AMNEUHEESAZ 29
S NABSH GBS JIRE TN 29 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=SAHE 28 2t T M 2,000
03 &AL Gl 7,000 7,000 0
O=AEBE 938 TMLEY
500,000& » 1Y « 23] 1,000
OX0tit=e SEABHE Z20d 29 6,000
SABE 25 2 (THIRE) 68,000 74,000 26,000
< 10,000
Al 58,000
201 £B-2dH| 68,000 74,000 A 6,000
< 10,000
Al 58,000
01 At 22l 68,000 74,000 A 6,000
O=AEE R0l HHREE &AH 7¢
10,000& = 2& * 3,400 68,000
< 10,000
Al 58,000
=B g &5 258,940 303,216 NA44 276
ZoE AlERx e 77,344 30,640 46,704
201 et 35,244 27,240 8,004
01 AP 2teltl 4,104 0 4,104
OAH AIE A8 MEH 8,000& = 3334 2,664
O3d& XM g4yl 120,000& * 12& 1,440
02 232gl 31,140 27,240 3,900
OZHZE AIE&EH |XH 420,000& = 12& 5,040
OYg=Z=Z2HEH &I 26,100,000& = 14 26,100
202 044l 2,200 3,400 A1,200
01 = LH o4 1l 2,200 3,400 A1,200
Ozel8 gRF=AN
(300,000 *4% )+(1,000,000& *12 ) 2,200
405 XHoHE S HI 39,900 0 39,900
01 AL ESFH S 39,900 0 39,900
OgZzHE 2 39,900,000& * 14 39,900
23N 29 181,596 272,576 ~90,980
201 2et2d] 179,116 270,096 290,980
01 At 22l 4,096 5,296 A1,200
ORI ARES 2L
300,000 * 42 7| 1,200
O8g+=% & E2= M=ZHl 300,000& * 427| 1,200
OdHEAMN,CHHZ HZ bl 400,000 * 42 7| 1,600
O3 NEA MEE 8,000& » 12&8 96
02 =224l 2,400 2,000 400
OZo4 HIE =KXl 200,000& * 123 2,400
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2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXFEsIt 2243
11,0002 = 8F 2Bt » 8F = 17| 1,408
M0 mels 8 4 407,904 380,446 27,458
e 22 (22 AR 48,105 71,859 N23,754
201 Let24d] 36,625 38,639 22,014
01 At 22l 22,520 22,520 0
OSE3JINE 2L 1,000& = 2,0000H 2,000
OSAMIANE ZEHE 2l 22l
100,000& *» 1082 1,000
OXNEa2E 472 +EH (M2, 8els88 2
g 8) 5,000
OO0IEXPC 22 E 2| 3,000
OZglH E #&Hl 300,000 » 2CH * 53] 3,000
OV AMEZE 35,000& * 63l& * 128 2,520
O&IlE =8 500,000& = 123 6,000
02 =224l 14,105 16,119 N2,014
OESMEelAAE RX 24l 14,105
-MAE dA3E 2lHII
40,810,000& * 7% 2,857
-HEg Etg Dl 37,250,000& = 7% 2,608
—RFID & X2 71,600,000& * 7% 5,012
-—SNEE EalJl 8,700,000& * 7% 609
—CENHESZMAIAE 43,120,000& * 7% 3,019
301 LPEXZ 7,480 11,220 N 3,740
12 JIEtE4 3 7,480 11,220 A 3,740
OXNASALA AHIE4 3
11,0003 = 2¥ » 340 7,480
405 TtobH S| 4,000 22,000 A 18,000
01 et EZFH S 4,000 22,000 A 18,000
Oltz4d &3 4,000
- SMNIAIIE EHI| 2
2,000,000 = 2CH 4,000
sz &= 122,100 133,900 211,800
201 2yt 2 Y| 23,400 23,400 0
01 At 22l 23,400 23,400 0
Og=s 2= ¢ 14,400
—-ME 40,000& = 158 = 42 7| 2,400
-&X 1,000,000& = 12& 12,000
OXzdelss 2l 9,000
-H2E .2t S 7503 « 6,5000H 4,875
—RFID JIH, TAG 750& = 5,5000H 4,125




SN EREAR
HE: ANEHEEANZ 29F
chel: & 9)| melE 8 X4 CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
202 (4] 2,400 4,200 A 1,800
01 2L Y] 2,400 4,200 A 1,800
OgeEd =X 300,000& * 8Y 2,400
405 XHo&HF S HI 96,300 106,300 A 10,000
01 AL =SB F SHI 6,300 6,300 0
ODVD P Hl 30,000& * 150& 4,500
Ooles 2l 30,000& * 60 1,800
02 &S M7t 90,000 100,000 A 10,000
O=A LI 90,000
S22 HE MY 243 6,882 7,300 AN418
201 LEt2 Y| 6,770 7,300 A 530
01 AR 22| bl 3,560 4,260 A 700
OEMZE3 st3lbl 1,660
-SI2 283 (22) 460
- 22 ANZEAG(AS) 550
—AYBZAHZEYE (AS) 550
-2 M2E3 RAaSAILERRE S 100
OEANZ 2HRAJE B4 Y
70,000& + 104 = 13 700
O M2 AMolILE EAH|
150,000& * 49 = 23] 1,200
03 At L ] 3,210 3,040 170
OXSTHE SHEEZR
JH2E 2 AL 65,000& = 7oA * 23] 910
=
OS2 M2 ZAHX 224G
ns 29 500,000& * 23] 1,000
A
Ostn L JIE I SANEZZ ) 29|
65,000& * 24 = 103 1,300
301 dEtEX = 112 0 112
09 SHALAHIXI &= 112 0 112
OXST M 2HLN SS2Sus IA 4
ul| 8,000& * 79 * 23] 112
EREME AIEs X2 230,817 167,387 63,430
101 2124 1| 14,835 19,147 N4 312
04 J|ZtH2ZXNEE S 14,835 19,147 N4, 312
O MEIMHE % HAZH JI2PHZ22 X ol24d| 14,835
-Jle3 9,280& * 2AI2F » 2% x 360 13,364
-ANEAEEE 13,364,000& * 11% 1,471
201 Bt A | 165,582 140,640 24,942
01 At 22l Yl 74,540 69,330 5,210




SN BREAR
M NPUESAHZ 29
Sl B o9)| Belg B X4 (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFANEBLES P 1,250,000& = 1290 & 15,000
OZSg ety =Z 22 M F2H
1,500,000 * 23 3,000
OAUSIIE EFx==8 1,000
O&ZIl BA==2 150,000& * 13l 150
O&IIAIE otd el 930,000& = 12& 11,160
OAAIY erd 2teltl 250,000& = 12& 3,000
O&Wxd 2eltl 650,000& = 12& 7,800
OsZJl &2yl 125,000& * 128 1,500
O&=AldsI| 22l 1,300,000& * 23] 2,600
ORQIHANAE AIBZ 200,000& = 12& 2,400
OEAM2t & SHE YA 450,000& * 63 2,700
O&=J| &2yl 35,000& = 7CH » 12& 2,940
O3J18&J| &eldl  60,000& » 120H = 12& 8,640
Ooslal 2eldl 3,000
OHM3E A28 HIIHHEEH 9|
1,500,000 * 23| 3,000
OR2U 2 HA=SE 70 ¥ &l
1,000,000& =* 32l 3,000
OXItE HIILHl BINZA ==&
850,000& = 13l 850
OFA4 HOIE 2L 300,000& * 404 1,200
OsA4 X+ 2l 100,000& * 1674 1,600
02 =224l 91,042 71,310 19,732
OA&EHl s Xl 90,242
-4 =&KXl 4,300& « 6,901m 29,675
—JIAHEIIANE 8K Kb 20,000
-d43I A& ¥ FHldl 4,500
- 2EX =&KXl 23,302,727& * 6% 1,399
—2UEXN BF 1,147& = 15,000km/9 1,912
-JIAA 28D Jts E% Y 500
—dHgI Y NEH
24,0003 = 4704 = 23| 2,256
-SIJIZS&EX Z2H wHbl
1,500,000 * 23| 3,000
—4xF HF Z EHI0] ZH ]
1,250,000& * 43| 5,000
—Sg4 30 AX 5,000,000 * 24 10,000
-—edd 4 ALY 2,000,000& * 12 2,000
— A = S Y 10,000,000& * 14 10,000
Oz3&E2= & HA 800
=g =ci ] 50,000& * 13 50
- 2EXE XASIHA 40,000 ~ 104 40
- 2ENE BE8E 710,000& =« 1CH 710




SN EREAR
M NEUHEZAS 23
chel: & 9)| melE 8 X4 (sl &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEBI L 2CHEI 30,000 0 30,000
01 A& dl 30,000 0 30,000
O=A4 M= - &X At 30,000,0008 * 14 30,000
405 AH&tE = HI 20,400 7,600 12,800
01 ML ESFHSH 20,400 7,600 12,800
OLZ Jdurghoi('o2d,'06¥) wi 2l 20,400
ol EstEM2 29 266,328 341,998 AT5,670
SA2AMHIA JlBtE Y 266,328 341,998 AT5,670
SN=3 AEZCHMS 188,582 255,842 A67,260
101 1248l 2,215 5,075 A2,860
04 D12 RZ22 TS 2=+ 2,215 5,075 A2,860
OXNESAAR SRR A (2E) 2,215
-JlZ2= 69,760% * 18 * 222 1,535
-m252¢+9 69,760% * 18 * 4= 280
- X2 &l 69,760% * 18 » 14 70
- =4 5,000 = 18 » 22¢ 110
-A28= 1,995,000& * 11% 220
201 LBt | 94,567 108,767 A 14,200
01 At 22l bl 63,335 92,807 N29,472
OgR=IUE MRES 7L 2,500
OJIEt+=EHl 1,500
Oo0f2t & S22 S48l 550,0008 * 6% 3,300
O=M283l &3lH(15) 360
OZ A2 AOILh &4 500
O=ANa3ItE 2l 1,000& * 2,5000H 2,500
OSAM3JNME ZLHE 2le 2Yl
100,000& = 158 1,500
OXMzdclEs 7Yl 10,000
—-HIRE, 2t¥, SNES8EE S 4,000
—RFID 21, TAG 6,000
O0IEXPC 22F 4l 2,200
-l =4 30,0003 * 4004 1,200
-J2E, itRA & ARE 1,000
OEH el 2,300
-ARY ZHEUE EY 7Y
350,000& 490 = 1CH 1,400
-A=4d ZEH &Y
150,000& 29§ = 3CH 900
OdItlE #=5=2 500,000& * 128 6,000
O&X &l 10,0008 » 605 = 12E 7,200




SN ERENR
M AdlsSotEAS 24
Sl SABAMUIA JIBES (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OMEgssRAHAAE SXE2H|
22,150,000& * 10% 2,215
OCCTV 2teldl 200,000 = 12& 2,400
Oaluz=Zd 22yl 8,000
OVoD AlE = 35,000 = 9§ ~ 12&€ 3,780
O=A| &Xxt&E 110,000& = 12& 1,320
OX&QlAD| AdXE 40,000 = 12&€ 480
O&=J| 224l 40,0008 = 504 = 128 2,400
OZ2J1&8 3D &2yl 30,000& = 8§ ~ 12&€ 2,880
02 3524 H| 31,232 15,960 15,272
OEME2IAIAE S 24| 15,272
— S LHEEXI OHAILE 48,000,000& * 8% 3,840
-AMNAE QAZIE 21D
24.,750,000& * 8% 1,980
- ADEL MY 26,950,000 * 8% 2,156
- AsUsEeeDl 64,000,000& * 8% 5,120
— 2018t )| 27,200,000& * 8% 2,176
O=1DHEAHY AE22 1,330,000& * 12& 15,960
202 04 dl 1,800 3,000 A 1,200
01 2L Y| 1,800 3,000 A 1,200
OsotEM2E HR2=X0Hl 300,000& * 6H 1,800
405 KHo&HFE S HI 90,000 139,000 AN 49,000
02 T A7 90,000 100,000 A 10,000
OEM Pl 90,000
SlIE=EAMotatdiol &9 65,746 73,156 NT,410
201 Bt A H| 63,210 70,780 NT,570
01 AR 22l ] 1,000 2,000 A 1,000
OBMSIELH 29 MRBE oY)
500,000& * 23] 1,000
03 & A2 = | 62,210 68,780 ~6,570
OBMSSLT BANLY
65,0008 = 304 & = 128 23,400
OHEY SAH3 2Ax=E
65,000 = 153 = 5J 4,875
O4dol & Al Tz ) 14,220
23l
-2 AMNE 370,000 * 18& = 24 13,320
- H &Y 450,000 = 27| 900
Oeglo T2 23| 4,800
- MERPA ZAISES
150,000& = 2Al2+ = 83| 2,400
-89 28 F2YHl ¥ oy
120,000& * 203] 2,400

_9_




SN ER
0|

a2 Nzt 2
CHelt THBAHIA JIUEA CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O=ENMwa 29| 1,000,000& = 23| 2,000
ORO0t Ty 89| 11,550
-2 ARG 35,000 = 40 = 7IH 8t 9,800
-29 23 74l 250,000& = 704 Bt 1,750
OX2TMH2 88 AIY 29| 1,365
—SAMETZZ O ARG
65,000 = 7 A * 33 1,365
301 LEtE M= 2,536 2,376 160
09 HAIAHI X 2 160 0 160
OXSEAMS 923 s I 4|
8,000& = 10¥ * 23] 160
12 JIEtE &2 2,376 2,376 0
SOt T8 29 NJSAA AU 243
11,000& * 8% = 3JHBF ~ 3J| = 3Y 2,376
SHTH A 12,000 13,000 A 1,000
201 et A | 12,000 13,000 A 1,000
03 A2 E H| 12,000 13,000 A 1,000
O8dt =SHAEY &2H| 8,000,000& * 13 8,000
OHIE SNHEA 22| 2,000,000& = 23| 4,000
LHINHASHZ 2 276,149 327,231 ~51,082
oY =N BEXY 214,691 258, 147 N43,456
NRA 2HOIHATHB) 101,581 146,787 A 45,206
201 Bt A H| 43,781 42,112 1,669
01 AR 2t2l ] 35,220 33,540 1,680
OYRFAE AIRES 74l 2,700
OJlEt=2H| 1,800
OO0t & S22 2K 2AHl 550,000& * 69 3,300
O AM2E3 staldl(28) 500
O M& AMOILE #AH| 500
OSEIIANE Y| 1,000& = 1,0000H 1,000
OSAHIKIIE Ty 2l 2|
100,000& = 102 1,000
OZelyd e 24| 400,000& * 4J4 * 23| 3,200
OSANSE & 22EE 2| 4,500
OXzdes8s #dyl 7,000
—HIZE, 28l TABELEE2E S 4,000
—RFID J1H, TAG 3,000
OZ2AD| &xt& 260,000& = 128 3,120
OAlE F2H| 200,000 = 12& 2,400
O&X P2l 350,000& = 12& 4,200
02 352494l 8,561 8,572 A1




SN EREAR
3 Aol E g 2H
Sl HOE SN HIXAN (sl &2)
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